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1. measures the extra value that consumers receive above what they pay for a

commodity. (A) Consumer surplus (B) Demand (C) Complement (D) Income elasticity.

2. Under , there are many small firms, each producing an identical product and each
too small to affect the market price. (A) oligopoly (B) perfect competition (C) monopoly (D)

monopolistic competition.

3. The Nash equilibrium is also sometimes called the . (A) cooperative equilibrium (B)

consumer equilibrium (C) noncooperative equilibrium (D) producer equilibrium.

4. A is a sudden change in input costs or productivity which shifts aggregate supply
sharply. (A) demand shock (B) tight money (C) economic policy (D) supply shock.

5.A is a measure of the average level of prices. (A) price index (B) inflation (C)
deflation (D) GDP.
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— ~ From the following data, plot the supply and demand curves.

Supply and Demand for Pizzas
Price Quantity Demanded Quantity Supplied
(USS$ per pizza) (pizzas per semester) (pizzas per semester)
10 0 40
8 10 30
6 20 20
4 30 10
2 40 0
0 125 . A |

(1) Determine the equilibrium price and quantity. 10 43)
(2) What would happen if the demand for pizzas tripled at each price? (10 53)
(3) What would occur if the price were initially set at $4 per pizza? (10 41

= ~ (1) Prove that marginal cost (MC) cuts average cost (AC) at its minimum value. (10 53)
(2) Explain why MC cuts AC at its minimum value. 10 43)
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